SENIOR MATH OLYMPIAD
QUESTION ONE
(a)	The expression 4x3 + 21x – 6 has the same remainder when divided by (x – a) or by (x +b), where a -b, find the value of           a2 + b2 –ab.									[4]
(b)	Find the range of values of x for which the expression             2 – 3x – 2x2 is negative.							[3]
(c)	Sketch the graph of y = 5 -, for the domain                    -2 x 5.										[3]
[bookmark: _GoBack](d)	If 	are the roots of the equation x2 -21x + 4 = 0, find the equation whose roots are.                            [5]
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